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Use the same coins (above) for both challenges. 

Put the coins above in a row so that: 

• the total of the first 3 coins is $1.30. 

• the total of the last 3 coins is 65c. 

• the highest value coin is not the first coin in the row. 

• the total of the middle two coins is 15c. 

• the last coin is worth half the value of the first coin. 

Put the coins above in a row so that: 

• There are two coins in between the two 10c coins. 

• The last coin is worth twice as much as the first coin. 

• The middle two coins are worth 25c. 

• The total of the first 3 coins is 65c. 
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